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FoedT IS ST/ SPACE FOR ROUGH WORK



1. S e
{a) L LG

(b) HERIS FaTg STAMHT
(c) TIAY T

(d) S TS FRlSl
it 39T

(a) (b) (e} (d)
(1) (1) @) i) (@)
(3) v} () () (i)
Match the following :
(a) The Peshwas

(b) Maharaja Sawai Jaysingh
(c) Raghunath Navalkar
(d} Raja Sarfoji of Tanjore

Answer Options :

(a} {b) (c} (d)
() @) (1) (i) ()
(3) (v) f{u) (i) (i)

(i)

(iii)

(iv)

(2)
(4)

(i)
(i1)
(i)

(iv)

(2)
(4)

Y13

3OS [T AEed TR %o i faRrde
TERTEIE! AT e

Ti= STERT A gy sufr fagM g
e T G Tl e NeSfaa
wifee.

3T farres anfor = s 3w Tt

(a) {b) (c) (d)
(i) (i) (1)  (iv)
(i) (i) (v) ()

Built Library of English books and
Laboratory for scientific experiments.

Had European doctors and scholars in the
court.

Asked the Portuguese king to send
Portuguese astronomers.

Learnt English and wrote well in the
language.

(@) (b} (¢} (d)
(i) (i) () (iv)
(i) (@) (Gv) (i)

2. TOBH RV OdH TE TRIVAS Bd ?

(a) TaEwmm

(c) WigHEYRl

qgqidtr 39T ¢

(1) (=2, (b) M0 (c) ek
(3)  (b), (c) MW (d) ert

(b)
(d)

(2)
(4)

THHIE
T[T STHHIE

(b) 3R (c) T
(@), (b), (c) =ufor (q)

Who from the following Sultans were from the Sayyad dynasty ?

(a) Khijrakhan

(c} Muhamadshah
Answer Options :

(1) (a), (b) and (c) only
(3) (b), (¢} and (d) only

(b)
(d)

(2)
(4)

Mubarakshah
Allauddin Alamshah

(b) and (c) only
(@), (b), (c) and (d)

FHoAT HIUHE AR/ SPACE FOR ROUGH WORK

P.T.O.
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3. Sl e
(a) FATHS
(b) TR
fc}  TWHE
(d) s
T 3

(a) (b) (e} (d)
(1)) () v ()
(3) (i) () G (i)
Match the following :
(a} Mayurbhanj
(b) Kolhapur
{¢) Rampur
(d) Bhopat
Answer Options :

(a) (b) ic) (d)
(1) (i) i) iv) ()
(3) (v} (i) i) (i)

(3) YEEM @ - A

(i)
(iii)

(iv)

(i)
(i1}
(iii}

(iv)

TEEd] (RN

Hag yina faest
it faera
I v foeia
(a} (b} f(e) (d)
(2) () (1) (i) (iv)
(4) (i) (1) (iv) (ii)
Central Administration

Merged into Bombay Province
Merged into Orissa

Merged into Uttar Pradesh

(a} (b) {e) (d)
(2) ) (1) (ui) ()
4y (i (@) (iv) (ig)

(4) Fgmm dkie fosdied sl - 3 W

Which of the pair from the following is wrong ?

(1) Dastas - Bankroka Tapu

(
(
(

2] Siaram Dal - Bihar
3

) Parshuram Dal - Orissa

4) Hindustan Socialist Republican Army - Uttar Pradesh

Theedl HIATETS! S/ SPACE FOR ROUGH WORK
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5. YAOiE Fen feri S el WA SiEes vl wevad I 9 TN 2

(a) SESE (b) EEHEd (c) TaTad Hga
(d) THEE FHEER (e) TR T

v 3y

(1) (a), (c) 30 () (2) (b}, (c), (d) 3T (c) FH
(3) (a), (b), (c) MM (d) weR (4) (a), (b}, (¢}, (d) ST (e)

Who from the following women inspired the womanhood to fight the non-violent
war of independence ?

(a) Kamladevi (b) Hansa Mehta (¢) Ratanben Mehta
(d) Ramibai Kamdar (e} Laxmibai Garde

Answer Options :

(1) (a), (c) and (e) only (2) (b), {c), (d) and (e] only

(3) (a), (b}, {c) and (d) only (4) (&), (b), (), (d) and (e}

6. T faoeam deme We ST T4 it wieh S 7 FHrE {5 Aiw e e

(a) TS T (i) IR FEE TgE
(b} TH, TEE T (i) tmens-Tashauas &
(c) S Hehie (iii) TUSAEIMISG TedTd Y@
(d) fevsE faig (iv) oTiY
qEE S

(a) (b} (e) (d} (a) (b) (e} (d)
(1) (i) (1) (i) (iv) (2) (iv) (1) (i) (iid)
(3) (i) (v) (1) (i) (4) (1) (i) @) (i)

Match the following leaders of the Hyderabad State Congress with their work and
places of work.

(a) Govindbhai Shroff (i) Head of Action Committee
{b) M. Ramchandra Rao {ii) Hyderabad-Secunderabad Area
(c) Dr. Melkote (iii) In-charge of struggle in Marathwada
(d) Digambarrao Bindu (iv) Andhra
Answer Options :
(a) (b) (c) (d) (a) (b} (c) (d)
() @ @) 3G (@) (2) (iv) (1) (i) (i)
(3) (i) (v) (1) (i) (4) (i) (v) () (i)

HoHT BIATHATS WM/ SPACE FOR ROUGH WORK
P.T.O.
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7. UGS ARIE SIS FI0TH G0 o5 AT ?
(a) o TR foeadte &1 mes 3.
(b) o= faror Sheft v 2 B,
(c) HERIR Ie SIde == ' SIewm” =1 g o 3o g,
(d) d g TSI SN A ST, A ey S9EE St $E 3.
it 3T
(1) H¥Es foam (2) THEE wME
(3) A NS (4) FORE Ao
Who from the following is described in the following sentences ?
(a) He was from the Kale village in Satara district.
(b)  He had studied upto fourth standard.
{c) His Jasa’ had tremendous impact on the people of Maharashtra.
(d) He used to make the ‘Bahujan Samaj’ aware of their pitiable condition and

lack of education in them.
Answer Options :

(1) Keshavrao Vichare (2) Ramchandra Ghadge
(3) Bhaurao Patil (4) Krishnarao Bhalekar
8. SIS S

{a) dfsfa (i) ARG FIT o= A%
(b) “HHSE (i) gt weferoE 99 foo 9
(c) UTEW-SHIe (iii) wfEag I
(d} &% (iv) AT HLeTh
aidt 39

(a) (b} (e) (d} (a) (b} (e) (d)
(1) (v} (i) (1) (i) (2) (1) (v) (1) (i)
(3) () (i (i) (iv) (4)  {(H) () (iv) (i)
Match the following :
{a} Parikshit (i} is the hero of a famous song of praise found in

Atharvaveda

(b) Janamejaya (11) is credited with having gone round the earth
{c) Pravahena-Jaivali (iii) Famous Philosopher
(d) Janaka {iv] The patron of Yagnavalkya
Answer Options :

(a) (b) (e) (d) (a) (b) (e} (d)
(1) (iv) (i) (1) (i) (2) (i} (v) (1) (i)
(3) (1) () (i} (iv) (4) (i) @) (v) (i)

AT THTHTETS! SN/ SPACE FOR ROUGH WORK
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9. 23ﬁ,1945ﬁmﬁﬁwﬁaaﬁﬁaﬁaaﬁaﬁwuﬁmwmmma@
ol e ?
(1) = wfea (2) TIRED TEaw
(3) VAU YT (4) Tasi diee

Who gave a speech at the conference of aboriginals at Zari in Umbargaon Taluka
on 234 May, 1945 and asked them to end the practice of Forced Labour ?

(1) Kama Randive (2) Godavari Parulekar
(3) Shamrao Parulekar (4) Devji Tandel

10. 1880 Tel §a A9 =greATE W S T PRI AT ol T e e ?
(1) e 98 (2) wedl Hiet Fee Fe
(3) HETCH S Fo (4) wed fage Twst fuis
In 1889, who called a meeting of barbers in Bombay and discouraged them from
tonsuring women ?
(1) Justice Ranade (2) Maharshi Dhondo Keshav Karve
(3) Mahatma Jyotiba Phule (4) Maharshi Vitthal Ramji Shinde

11. &S 9 F Bl ?

(a) e (b) ST (c) A

(d) #EF (e) @fR LIS

(g) TAFTIH (h) TR (i) EUH
LRGN

(1) omwiadde

(2) TS @ N0 0! i« T

(3) TEETH T

(4) T USTE WeW

What were the following States ? :

{a) The Malavas (b} Arjunayanas {c} Yaudheyas
(d) Madrakas (e) Abhiras (ff Prarjunas
{g) Sanakanikas (h} Kakas (ij Kharaparikas

Answer Options :

(1) The States of Aryavarta -

(2) The tribal States which surrendered to Samudra Gupta
(3) The States of Deccan

(4) The territories of Naga rulers

HoT HIHETS ST /SPACE FOR ROUGH WORK
P.T.O.
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12, SrE oo
(a) THe TH (i) Tl = = e
(b) w7, fezmm (ii) TEIEE TR S oy @R Teae
(c) @@ BaYd " (i) HeEe fireolt Hreawi= TR <w diat T ol
(d) Tecsq foees (iv) VTR T fodeh
It I
{a) (b) ie) (d) (a) (b) (e} (d)
(1) (v) (i) (iii) (i) (2)  (v) (i) (ii) (i)
(3) ) () (i) (iv) (4) (1) (i) (iv) (iii)
Match the following :
(a) Mukunda Das (i) Swadeshi Steam Navigation Company
{b) B.G. Tilak (ii} Swadeshi movement against the use of foreign
sugar
(c) Lala Lajpat Rai (iii} Requested the Bombay Mill owners to supply
dhotis at moderate rates
(d) Chidambaram Pillai (iv) Composed patriotic songs
Answer Options :
(a) (b} (c) (d) (a) (b) (c) (d)
() (iv) (i) (i) (i) (2)  (v) (i) (i) ()
(3) () (i) (i) (iv) (4) (i) (1) (iv) (i)

13. TEEUHT S AR VESEET SR R g ?

(a) HIR, gremH (b)  To=moR, Ul

(c) Ye™g g&d (d) HHRR I

it S

(1) (a) 3707 (b) Fea (2) (b) W (c)Fd

(3] (c) AT (d) “Fy (4)  (a), (b) AT (d) e

Who from the following persons were the court painters of Shahajahan ?
(a) Mir, Hasham (b} Chitramani, Anupchitra
(c} Muhammac Hassan (d) Fakir Ulla

Answer Options :

(1}  (a) and (b) only {(2) (b) and (c) only

{3} (c) and (d) only (4) (a), (b) and (d) only

HoAT HIAHG! AFT/SPACE FOR ROUGH WORK
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T T FEHITTHR el .

(a) OfeREIET ST

(b) TS AT HEEA BT

(c) TSia A

(d) faven afteg

i 39T

(1} f(a) (d), (b), (@) (2) (a), (b), (c}, (d)
(3) (b), (&), (d), () (4) (c}, (o), (a), (d)
Arrange the following things in chronological order.
(a) The Pakistan Resolution

(b) Rejection of Rajaji’s proposal by the Congress

(c) The Rajaji Formula

(d) Simla Conference

Answer Options :
(1) (&), (d), (b), (c) (2) (a), (b), (c), (d)

(3) (b), (a), {d), {c) (4) (), (b), (a), (d)

15.

TH. 75 T i swRaTe Frafda dey e ‘e et @ Uy fogian.
(1) Tt (2) sl (3) e (4) ey

wrote ‘Natural History’ in 75 A.D. in which there are references to
exports from India.

(1) Pliny (2) Herodotus (3) Megasthenes (4) Periplus

Heedl HIWEES 91T/ SPACE FOR ROUGH WORK

P.T.O.
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16. SEm o1
Y - WY - 11
(o1gT) ( S FIETE)
(a) HH (i) =
b) o= (i) =
(c) @M (iii) T
(d) f¥e (iv) 87 (Seine)
gt 9
(a) (b} (e) (d) (a) (b) (e} (d)
(1) Gv) (1) () (1) (2)  (iv) (i) (iid) (i)
(3) (i) (iv) (i) (i) (4) () (iv) (1) (i)
Match the following :
Column - I Column - II
(Cities) (On River Bank)
{a) Paris (i} Rhine
(b}  Geneva (ii) Rhone
(c) Bon (i11) Dneper
(d) Kiev {iv] Seine
Answer Options :
(a} (B) (e} (d) (a) (b) (e) (d)
(1) (iv) (1} (i) (i) (2)  (w) (i) (i) ()
(3) (i} (v) (i) (i) (4) (i) @v) (1) (i)

17. et faum faamm =0 -
(a}) FEwr wSH Jo € U anfor MEed 98 W e
(b) RETE WA vy Seaide, dnfTs 9vEs.
(c) TireeHl e Fviud TE Fiow quos T sTewdl,
et I
(1) wd f9u/ (o) a0R @R
(2) wF faum (b) SU=R R
(3) faum (b s1fn (¢) ST amRA
(4) Taum™ (a, (b) 3707 () =R 3TRd
Consider the following statements :
{a) The Cuddapha rock system is found in Penganga and Godavari river basins.
(b) Iron ore and Manganese is found in Dharwar rock system.
(c)] Coal is found in Gondawana rock system on ample scale.
Answer Options :
(1}  Only statement (a) is correct
{2) Only statement (b) is correct

(3}  Statements (b) and (¢) are correct
(4) Statements (a), (b) and (¢} are correct

HoAl HWMETE AT/ SPACE FOR ROUGH WORK
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18. =T @& :
(7t) ( afere wiid )
(a) fEy (i) TUETE Aeie FEYs 39 Y<wE STH b,
(b) ardt (i) Tade mefes TrEERSEeET ST .
(c) T (iti) oqo foeendio T[ye! Taa W 3 I,
(d) <R (iv) T TS UheH SHESTHE FW T,
(v) ufem wewe s ged WA 37T e,
it 39
(a) (b) () (d) (a) (b) (e} (d)

(1) @) (i) @G) @) (2) () @) (v} @)
(3) (i) (v) {v) (i) (4) (i) (i) (iv) ()
Match the following :

(River) (Details)
(a) The Indus (i) Rises from semi-arid highlands of Chhattisgarh.
(b) The Tapi (ii) Rises in Tibet, near lake Mansarowar.

(c) The Narmada (iii) Rises in the Satpura ranges, in the Betul district.
{d) The Kaveri (iv) Rises in the Amarkantak hills in Madhya Pradesh.
(v) Rises in the Brahmagiri range of the Western Ghats.
Answer Options :
(a) (b} (e) (d} (a} (b) {c) (d)
(1) Gv) (1 (1) v (2) (i) () (v) @)
(3) (i) (v) (v () (4) (i) (i) (v} (¥)

19. WEE ST o= SrmsEn a1 S @ TR SHHET 201 1 TH6 SE 378 7

e T iR
(a) SO 886 986
(b) T 393 934
(c) e 319 943
(d) HoTEE 366 920
i 39T
(1) {a), (b), (d) (2) (@), (¢}, (d) (3) (b}, () (4) (D), (c), (d)

Which of the following districts have their correct density of population and sex
ratio as per census 2011 ?

District Density Sex ratio
(a) Thane 886 986
(b) Nashik 393 934
(c) Nanded 319 943
(d) Aurangabad 366 920
Answer Options :
(1) f@), B, d (2 (@, @), @ (3) (b), (o) (4) (o), (c), (d)

FoAT TS WA/ SPACE FOR ROUGH WORK
P.T.O.
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20. WHO AT e  gan Semaei=’ ey gl srergien e o

(a) @SS (i) <t s 21 g
(b) TeeA (ii) EIHEER <51 SaE
(c) d=TEA (iii) SRR SR THTS FHeary
(d) <R G (iv) wfq =’ SRefta s Soae
it 39T ;
(@) (b) (c) (d) (a) (b} (e) (d)
(1) (iv) (i) (i) (i) (2} (@} (v) (1) (i)
(3) (i) (i) (iv) (i) (4) (i) (1) (iv) (i)

Match the important words in the definition of ‘optimum population’ with the
scholars who gave them.

(a) Boulding () maximum economic growth
(b) Dalton (i) maximise standards of living
(c) Peterson (ii1) maximum social welfare
(d) Car Saunders (iv)] maximise income per head
Answer Options :

(a} (b) (e} (d) (a) (b} (e) (d)
(1) (iv) (i11) (i) (1) (2) (1) (v) (1) (i)
(3) () (i) (iv) (i) (4)  (ii1) (i) @) (i)

21. HENEMS Yo=a1 Havidio faum .
(a) TR YA Fegfafran a S womr sy o,
(b) STl 91 AT TN AT STiEe.
(c) wi=El a1 e foesma wm=q.
(d) disre ow HizT geai Wow T S,
it I
(1) % a9 (a) ST =R,
(2) fa¥m (a), (b) 3N (¢) ISR 3T
3) Taum (a), (o), (d) IR THEA.
(4) fa9H (a), {b), (c) 3 (d) I .
Observe the statements regarding soils in Maharashtra.
{a} Regur soil contains Aluminium and Iron on sufficient level.
(b) Lateric scil is found in moist climate.
fc} Red soil is found in Bhandara district.
id) Red soil contains less amount of organic matter.
Answer Options :
(1) Only statement (a) i1s correct.
{2) Statements (a), {b) and (c) are correct.
(3) Statements (a), (¢}, (d)} are not correct.
{4) Statemen:s (a), (b), (c) and (d) are correct.

Tl HIATETS W/ SPACE FOR ROUGH WORK
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aEore faumia Wy s§ drg vat e

(a) ST MR iesan & 78° 8 T@rare e SR

(b) AT TH HIeHl SRAS 50% hiead S, THETS o ILEE & TG Al
Tt 3

(1) (a) 37 (b) SR (2) (a) TR (b) F

(3) (a) IF (b) TR (4] (a) 3 (b) F

Examine the following statements and select the proper option.

(a) Majority of the coal fields found in India to the east of 78° East Longitude.

(b) The states of Orissa, Chhattisgarh and Jharkhand constitute more than
50% of the total coal production of India.

Answer Options :
(1) (a) and (b} true {2) (a) true (b) false

(3) (a) false (b) true (4) (a) and (b) false

23.

I HizEsT I T TgAhgA fAgAgTd HH g fAAETRS AEvr S
TEUIA.

(1) Tt =il (2) ufve o
(3) =AM AR 4) SRER

The winds blowing from the subtropical high pressure belt towards the equatorial
low pressure area known as .

(1) Local winds (2) Westerlies

(3) Trade winds (4) Mountain winds

HoAT HETES ST/ SPACE FOR ROUGH WORK

P.T.O.
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24. TRRTSEME YqeTH e (g w1 we ?
(a) WA TS FIARA YT T FE TH TR
(b)  VFAHAE IO PRe oAy srEavl Bt 2 o,
(c) 3MYfTeF ot stearr=n snfde gesn Iwie waed 79
(d) ViR =afemm ot Iav anfife g T T,
Tyt I
(1) % @97 (a) SO IR
(2) faum (a) anfor (b) s MR
(3) Taum (b), (¢) enfm (d) SR e,
(4) Taum (a), (b), (c) T (d) SR aq.
What happened in Maharashtra due to fragmentation of agricultural land ?
(a) Farmer is not able to produce food grains, sufficient for his family.
{(b) There are obstacle to supply water to agricultural land.
{c) The use of modern agricultural tools is uneconomical.
(d) To pay individual attention on agriculture is uneconomical.
Answer Options :
(1) Only statement (a) is correct.
(2) Statements (a) and (b) are correct.

(3) Statements (b), (c) and (d} are correct.
(4) Statements (a), (b), (c) and (d} are correct.

25. T e Wiehe: W faum faame swm. i @ bt fae,

(a) Y@E g (b) YEE IR

(c) Y@ Fh oftr yag (d) FAEH-ES IR Y8R

(e} T "PH A5 (i) EFERE

it 39v :

(1) 9% (a), (b), (c) S (e) (2) ¥ (a), (b), (e) S ()

(3) 9 (a), (b), (d) TN (f) (4)  FFB (b), (c), (d), fe) S ()

The Ocean flcors are divided into the following major divisions. Select the correct
option.

(a) The continental shelf (b} The continental slope

{c)} The continental ridge and hills (d} The shallow-deep sea plateau
(e) The deep sea plain {f) The oceanic deeps

Answer Options :

(1) Only {a), (b), (c) and (e) (2)  Only (a), (b), () and (f)

(3} Only {a), {b), (d) and (f) (4)  Only (b}, {c), (d), {e) and (f}

Feedl HATHIS! 9 /SPACE FOR ROUGH WORK
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26, SE S
UNaTS WEH SOt fawm
(a) ST o @) fomm, S
(b) Tt gof (ii) Toeoht, st
(c) T gult (iii) R, TEL
(d) oTEH-3IR o (iv) WIOMERE, oY
i 39
(a) (b} (c) (d) (a) (b) (c) (d)
(1) (i) @Gv) G} () (2) (v) (i) @) (@)
@) @) () () @) 4) () @) (v )
Match the following :
Dharwar Rock System Area
(a) Champion series (i) Singhbhum, Bonai
(b} Chilpi series (i) Delhi, Alwar
(c} Rialo series (iii) Kolar, Raichur
(d) Iron-ore series (ivi Balaghat, Jabalpur
Answer Options :
(a) (b} (e} (4) (a) (b) (e} (d)
(1) (i} @(v) Gi) (1) (2) (@v) @) @) (i)
(3) (i) (1) (D) (@) (4) () (1) (v} (i)
27. 7EER focemdie Aol STHST QIRUHS STEl 979 i el
(1) VIR, 9ed, sTahagal (2) YSE, TR, AGER
(3) A, FRER, YA (4) TR, YSHE, TGENR
Find right sequence of tahsils from north to south in Nandurbar district.
(1) Shahada, Dhadgaon, Akkalkuva (2) Dhadgaon, Taloda, Nandurbar
(3) Navapur, Nandurbar, Dhadgaon (4) Akkalkuva, Dhadgaon, Nandurbar
28, W YRAHEY YHW d TUNA W 319 0@, W w@NEe Smh A o g ar W A
TEIFATER o5 HE TS 7
(1) ¥l 6:30 T HFHEB 6:30 (2) WEHES 6:30 T HHB 6:30

(3) UHD 6:30 9 HEHE 5:30

(4) TR 6:30 F Fehied 5:30

If the time in India is 12:00 Noon, what would be the time simultaneously at the
Greenwich meridian and the International date line, respectively ?

(1)
(3)

Morning 6:30 and Evening 6:30
Morning 6:30 and Evening 5:30

(2)
(4)

Evening 6:30 and Moming 6:30
Evening 6:30 and Morning 5:30

T SRTHTHTS T /SPACE FOR ROUGH WORK
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29.

16 A

A FH FH SATATHIST HIvr et Fviiegd s ?

(a) yHIEerET famgd W

(by  Rar= fawst o1S[H sToeson 9z

{c) 30° 40° AT W= Ug=d S2 YaEr il

T 9T

(1) ™ (a] (2) wH (b) (3) f(a) T (B)  (4) (a), (b) &M ()

Which situation is responsible for the monsoon winds in India ?

(a) Extensive land area

(b) Sea lies on three sides of India

(c) Existence of Jet stream in 30° to 40° latitude belt
Answer Options :

(1) Only (a (2) Only (b) (3) (a)and (b)  (4) (a), (b) and (q
30. 9= argrcye Sivd faur ste e ?

(a) 23N UF! qarEs aedm.

(b) 9N w=fE yRRE TR,

(c) ¥ AN $TRT" vearen S sTees 3T 98

(d) ® o =TT TG aean.

Taidt IV

(1) f(a), {b) (2)  (a), (¢) (3) (b}, (c) (4) (e}, (d)

Which statements are incorrect regarding Chinook winds ?

(a) These winds blow on Rocky mountain.

(b) These are the local winds.

{c) These winds climb Alps mountain from its south side.

(d) These winds blow in Rhine river valley.

Answer Options :

(1) (a), {b) (2)  f(a), {c] (3} (b), () {4) (o), (d)
31. SIS R WO ST 1952 =1 BR YA T SR SRd 318 SRR FRI S ?

(1) smferate fem (2) snfvErde Bt

(3) arZEId Hiea (4) TS SlewE

Which of the following species was declared extinct in India long back 1952 ?
(1) Asian Cheetah (2) Asian Elephant

(3) Desert Fox (4) Gangatic Dolphin

FoAT SHTATEIS! ST/ SPACE FOR ROUGH WORK
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32. TEACHN T 20 WHGUFH! U ITHFANE 81 ehd ?

(a) FrEOiEwT
(c)
ygidt 36

(1} K (a), (b) U (d)

(3) T (a)

S ST g 980

TERerd T
seifals Il

(b)
(d)

(2)
(4)

T (a), (b) S (c)
i 9

Habitat destruction can happen due to which of the following activity ?

(a) Deforestation (b} Reclamation of Marsh
(c) Change of land use pattern (d) Subsistence farming
Answer Options :
(1) Only (a), (b) and (d) (2) Only (a), (b) and (c)
(3) Only (a) (4) All the above
33. e o

WY -1 WY - 11

( ST Uk ) (T=T)
(a) THUTHE (i) Ten
(b) WTEHHEER (i) SWEE
(c) Toweue (iii) TS To¥
(d) g (iv) T
it I

(a) (b) (e} (d) (a} (b) (e) (d}
(1) @) (v) () (1) (2) () (i) (v) (i)
(3) (1) () (1) () (4) (i) (1) @v) (i)
Match the following :

Column-I Column-II

(National Parks) (State)
(a) Naramdapha (i) Goa
(b) Bhagwan Mahavir (ii) Uttarakhand
(c) Simlipal (iii) Arunachal Pradesh
{dj Dudhwa (iv) Odisha
Answer Options :

(a) (b) (e} (d) (a) (b) (c} (d)
(1) (@) (@v) (i) (i) (2) @) ([ @v) (i)
(3) (i) (1) (i) (iv) (4) (1} (1} @v) (i)

Tl SHIUMETES S/ SPACE FOR ROUGH WORK
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34. e o
T HEER s qgere wftem.
WY -1 Y- 11
( STETATE TG ) (&)
(a) 100 dB (i) v TSUA
(b) 40 dB (ii) AT g
(c) 70dB (iii) FEEE g0 YAl B
(d) 90dB (iv) T A
uatdt 3w
{a) (b) e} (d) (a) (b) (c) (d)
(1) (i) (@) i) (iv) (2) @) (1) Gv) (i)
(3) () (i) riv) (i) (4) (v) (i) (i) (i)

Match the following :

Impact of Noise on Human Activities.

Column-I Column-II

{Noise level) {Human Activities)
{a) 100 dB3 (i) Sleep Interference
(b) 40 dB (i1} Loss of Working Efficiency
{c) 70dB (111} Permanent Loss of hearing
&) 90dB (iv)] Speech Interference

Answer Options :

(a) (b) tc) (d) (a) (b} (e} (d)
(1) (i) (i) i) fiv) (2) (i) (@) Gv) (i)
(3) (i) (i) v} () (4} (v) (i) (i) (i)

FHEAT HIAMETS 9T/ SPACE FOR ROUGH WORK
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35. SIS & :
Y -1 W - II
( WO S ) (we)
(a) Tehes (i) ToremiT @
(by ¥ (ii) Ui TR SR
(c) uSH (iii) A gt
(d) gD (iv) STUGT TEW
e Y
(a) (b) f{c} (d) {a} (b) (c) (d)
(1) @) @) (@) @i (2} (i) (v) @) (i)
(3) (i) (iv) () (i) (4) () (i) (1) (i)
Match the following :
Column-I Column-II
(Valuable Fauna) (Importance)
(a) Insects (i) Consume insects
(b) Snakes (iij Crops-pollinators
(c) Frogs (iii) Soil fertility
(d) Earthworms (iv) Protect damage from Rodents

Answer Options :

(a) (b) () [d) (a) (b} (e) (d)
() i) (v) (@) (i) (2) () (v) () (1)
(3) (i) (v) @) (i) (4) (v) (i) (i) (i)

THeAT FHMMEIS ST/ SPACE FOR ROUGH WORK T.0
P.T.O.
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36. TISM Hesal S{EITHR (79 T2 T5d1) SEEer swpara i Wade SEde aged
TGB! HIVT/ IV G479 S 577/ 37 ?
(a) 1983-84 AL IHW IS BEY 46.6 Ta% A% 2nl,
(b) 1993-04 W& 36.0 25h SIEHEEA ey WES Bl
(c) 1990-U1 ALY 35.0 TF BT IRH S < e g,
(d) 1987-88 W& WRAW UFV 37.0 Toh AHEEA e e g,
Tqafdt 39

(1) (a) A0 (c) (2) (b) 370 (d) (3) (a) 0@ (b) (4) (c) %o

According to the Planning Commission’s Estimates (Expert Group Methodology)
about percentage of population below the poverty line population, which option/
options of the following is/are correct ?

{a) In 1983-84, Rural area poverty was 46.6 percent.
(b)  36.0 percent of the population was below the poverty line in 1993-94.

(c) 35.0 percent of the population in Urban area was below the poverty line in

1990-91.

(d} In India, 37.0 percent of the total population was below the poverty line in
1987-88.

Answer Options :

(1) (@and () (2 (and(d) (3) (aand (b))  (4) () only

37. 'R’ Ul o wee' € HeeuwAedsh frdt qEietel v eiye g ?
(a) TSE 2al ST FIET=IdT/ S0 (b) 1%t Oiferst mifedt

(c) wfeaan S SR (d) T W@ g

i I

(1) (a) = (d) (2)  f{a), (b), (c) AT (q)

(3) (@), (e} 3 (q) (4)  f(a), (b) ST (d)

The “missing” girls and women’ phenomenon occurs due to which of the following
factors ?

(a} prefereace for male child (b} inadequate data

{c] women trafficking {d) high maternal mortality ratio

Answer Options :
(1) (a) and (d) (2)  (a), (b), (¢} and (d)
(3) (&), (¢) and {(d) (4) (), (b) and (d)

THeeAT HIHTATS! WM/ SPACE FOR ROUGH WORK
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38. ‘THe ey W A’ (SAGY) Tad WHAGIE! HIUR faHe SR wé ?
(1) F<= 2016 AH TR HT0AE 7.
(2} @meER 2019 WA 2 fFar @i Aige fxow [T & T,
(3) T WA WRATI® 2,500 YA i Wl waiferse SR
(4) aSUF! THE L

Consider the following statement about “Sansad Adarsh Gram Yojana’ (SAGY),
which of the statement is not correct ?

(1) Introduced in September, 2016
{2) MP’s can develop 2 or more model village by 2019
(3) Covering over 2,500 villages in India

(4) None of these

39. T 2018 =1 YA SDG Fdws ¢ i
(a) R AU e 57 R
(b) HERNZ T ¥ SENEAT e Hifa 3.
(c) ST YT T 99EY S99 A e B

i 39T ;
(1) & (a) UK (2) TR (b) SR
(3) e (a) 3O (b) I (4)  HF (b) 3N (c) TR

The 2018 SDG India index indicates :

(a) Average index for India at 57.

(b} State of Maharashtra is infront runner category.

(c) Uttar Pradesh Falls in the best category.

Answer Options :

(1) only (a) is correct (2) only (b) is correct

(3) only (a) and (b) are correct (4) only (b) and (c) are correct

HoET RIWTES I/ SPACE FOR ROUGH WORK
. P.T.O.
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40. GATT (I ffife i 2T i IEw) Heum q&io faur foramm =0,

(a) T2 (GATT) = TUTOH 1948 QIH 30,

(b) GEETEIE F@A e (GATT) 9 23 39 ¥e= 2.
(c)  WTO 72 (GATT) 3 TF TN STRTHHI 3T,

(d) feueita 9 Fg7aiT =MUR FRE T 7 gEd S0

Feten) Hon faum/ faum atew s/ nd ?
(1) (a) 3nfor (d) (2) (a), (b) =i (d)
(3) (a), (b) 3mfN (¢) (4) oliF w9

Consider the following statements with reference to GATT agreement (General
Agreement on Trade and Tariffs).

fa) GATT was established in 1948,

(b)  Initially, the total number of members of GATT was 23 countries.
(¢c) In a way WTO is the successor of GATT.

(d) GATT administers all bilateral and multilateral Trade agreements.
Which of the above statement/s is/are correct ?

(1) (a) and (d) (2} (a), (b) and (d)
(3) (a), (b) and (¢ {(4) All of the above
41. TYEIOUH FIR /@ HUE/T S0E SR/ ?

(a) U 9 HSE Yhed 2015 el & FI0AE 3.

(b) T qF O TN -14 T SEAFE AfHeh /AR TN I FSe HoiT Saanys ufie
fas sm.

(c}) THISTTId a1 Foed Yol a5 9.

qgidr 39

(1) (a) P (2)  (b) (3) (a) 3nfUr (b) wR (4) o ¥

Which of the fol.owing statement/s is/are correct ?

(a} National child labour project was launched in 2015.

{b) It provides vocational training to children rescued from work force in the age
group of 9 - 14 years.

(c) It gives stipend to rescued children.

Answer Options :
(1) {(a) only {2) (b) only (3) (a) and (b) only (4) all of them

FHoET FIUETS ART/SPACE FOR ROUGH WORK
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42, e ol
e - 3 e -9
( srfeien gUOT ) (3T )
(a) TomgiRtm (i) <o durE fEs
(b) & SATHT ShIFET (i) W oA fremfaa w0
(c) Teamea@r e (iii) STIEMIA Tohil e hTl
(d) STHR FHTEE (iv) =EEE Wead gt 6
|1
{a) (b) (e) (d) (a) (b} (e} (d)
(1) (v) (i) @) Q) (2) (i) () (v) (i)
(3) (i) ([ (i) (i) (4) (1) ([ (i) (i)
Match the following :
Group - A Group - B
(Economic Reforms) {Objectives)
(a) Demonetisation {ij Checking black money
(b) New Benami Law (iify Removing fake currency
(c) Bankruptcy Law {iili) Rationalising subsidies
(d} Aadhar Act (iv) Promoting ease of doing business
Answer Options :
(a) (b) (c) {d) (a) (b) (c) (d)
(1) Gv) (i) () (@) (2) (i) @) Gv) (i)
(3) (i) ([} (1) (iv) (4 @) (i) (@) ()
43. T faud fa=i =i :

(a) wFE! T e @1 S, fagmn onfn TeoiEE Fiwn WY fdwien o,
(b) TEVIHF HISHY 3 TSR T Qlia Seaie ATeAT SR e S,

It 39

(1) (a) B sUSR 3M@ (2) (b) Fe SRS 3T

(3) (a) onfin (b) IEH W aRA  (4)  (2) 300 (b) <2 T TRA
Consider the following statements :

(a) HDI is a composite index of health, education and standard of living.
(b) The standard of living is measured by GDP per capita.

Answer Options :

(1) (a) only is correct (2} (b) only is correct

(3) (a) and {b) both are correct (4] (a) and (b} both are incorrect

THoAl RIHHGS T/ SPACE FOR ROUGH WORK

P.T.O.
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44, JUFHAT S 9GS IS GE o T,

(a) faxita |wrERE (b) fofta e

(c) fomama #=9 (d) F fam
gt I

(1) (a) F (b} *hed (2) (b} & (c) T

(3) (&), (b) ¥ (c) e (4} (b), (¢) T (d) ®H
Pradhan Mantri Jan Dhan Yojana (PMJDY) envisages :

(a) Financial inclusion (b) Financial literacy
(c) Insurance cover (d} Crop insurance
Answer Options :

(1) (a} and (b) only (2) (b) and (c) only
(3) (a), (b) ard (c) only (4) (b}, (c) and (d) only

45. @ faum faamm =m0
(a) AR FENSH MR SN AR SRR SERT 2015 9T S TR,
(b) W WS (FiHereR) faem & fdl s grievies 99 o,

Uﬂﬁﬂ'?ﬁﬂ' :
(1) (a) ®F =R (2} (b) B S
(3) ({a) 3N (b) St s (4) (a) =000 (b) S TH

Consider the following statements :
{a} Planning Commission of India was replaced by NITI Aayog in January, 2015.
{b) Normative Planning is a guiding principle of NITI Aayog.

Answer Options :

(1} (a} only is correct (2) (b) only is correct

(3) both (a) and (b) are correct {4) both (a) and (b) are incorrect

46. ‘AT IR YA (ISA)’ 9ad WSSUH Hiod faem sieat 3mé ?
(1) I 121 9T gaeE gyg St o,
{2) e TN Fehga M0 fagaga 96l sivar o gof qeifase e
(3) W™ AW SN0 R Tgreas A THFI9 gl GE ho ae.
(4) I 30 AIET 2015 S U A9 GE Fol T
Which of the following statement is not correct about International Solar Alliance
{ISA) ?
(1} The Alliance is of 121 solar-resource rich countries.
(2) All of these countries, lying fully or partially between Tropic of Cancer and
Equator.
(3) The alliance was jointly launched by PM of India and President of France.
(4) The alliance was launched on 30th November 2015 at Paris.

oAl HIATATH 9FTT/ SPACE FOR ROUGH WORK



A 25 Y13
47. Ete faum fom=md =0

(a) UST o G Af¥FH 2007-2008 7 Y& FHA AT,

(b) dig®, TE Mt et A1 IS Jrefan 8 o & ST

Qi I

(1) WK (a) IR T (2) hE (b) TSR 3R

(3) (a) MW (b) & Sq T (4) (a) 30T (b) S gF TRA

Consider the following statements :

(a) National Food Security Mission (NFSM) was launched in 2007-2008.

(b) It aims at increasing production of rice, wheat and pulses.

Answer Options :

(1} only (a} is correct {2) only {b) is correct

(3) both (a) and (b} are correct (4) both (a) and (b) are incorrect
48, JUAH IsIA A/ (PMUY) K /=

(a) wfea 9 goi=n A YUrRen

(by W& HarHERTT

(c} oAfafiaa JemRifHeT

Taigr S

(1) {(a), (b) e (2) (b}, (c) B

(3) (o) TF (4) wOolis dE

The objective/s of Pradhan Mantri Ujjwala Yojana (PMUY) :

(a) Improved health of women and children

(b) Women empowerment

(c) Additional employment generation

Answer Options :

(1) (a} and (b) only (2) (b) and (c) only

(3) (a) only (4) All the three above
49. ‘' NA-3AfER SR /T ST SUHH RN 96 GE (Launch) H0EM A ?

(1) 2004 (2) 2000 (3) 2009 (4) 2005
In which year, the Indo-US Dollar Matching Grant’ project was launched ?
(1} 2004 (2) 2000 (3) 2009 (4) 2005

oAl AT W/ SPACE FOR ROUGH WORK
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50. WIS R fagr/faum @ o/ o ?
(a) fafore From@a Suren ARl Safed FHow a5 F 9q THY Yo 500 =S e
T I (GNP} 8.
(b) ST STHI I S <90 Ielfed Bidl, T I AV Wit B, e G e Ui
IR (GNP) % i,
(c) Wit HIOMT 309 7 ST Siehie HiHid 3 <.

W‘hﬁﬁi‘
(1) {a) 37for (b) (2) (a) M (c)
(3) (b) =7 (¢) (4) o dE faum ST anga

Which of the following statement/s is/are incorrect ?

(a) GNP is the total money value of goods and services produced by the nationals
during the given year.

(b) The part of income produced in the country but earned by foreigners is
included in GNP.

{c) Per capita income shows the marginal income of the people in the country.

Answer Options :

(1) (a) and (b) (2) {a) and (c)

(3) (b} and {c) (4) All the three above are correct

51. YR faymren faar =0
(a) TXHAR ITUBTE T Jeaea APl Qrdardor ST ST,
(b) TEUH o SYUE Yeeaiio AEE fEer o 38 ared.
it I
(1) < o <= s
(2) (a) o s ooy 9 (b) =t SROfEEET 1.
(3) (a) faum =R sufn a4 (b) =t HROfEEE AREL
(4)  (a) TR T (b) TH .
Consider the following statements :
(a} The speed of telecommunication satellite relative to earth is zero.
(b) Hence it appears to be stationary to a person on the earth.
Answer Options :
(1} Both statements are false
(2) (a) is true and is a reason of (b)
(3) (&) is true and is not a reason of (b)
(4) ({a) is correct, (b) is not

Hel HIHTHIS JT/ SPACE FOR ROUGH WORK
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52. S TER WA a0 dhte ge fidiaR aTees deal @ wiafsfea €9 E

(1) 180 SFUFY (7) Tae YFHHT TR,
(2) SEE TS BN EL

(3) 90 W (w/2) sTaen fote TR
(4) oo T5 TU ST TRV .

Y13

When a compression of sound waves is incident on rigid wall, it is reflected as :

(1) Compression with a phase change of w (by 180°
(2) Compression with no phase change
{3) Rarefaction with a phase change of w/2 (by 909

(4) Rarefaction with no phase change

53.

T fagmten faar &4

(a) T FION STUET FHCIA FETE FRA - 14 d HrEA - 12 A I SO ST
(b) ToRToneardt #meH - 14 wweenfrrEn A FEH SEHTERE .

i Sy

(1) TI9M (o) G 3 A0 (b) faumT=R FROfTHET o7,

(2) (a) 3T (b) S=1 faum % e

(3) (a) Taum o IR W (b) TF L.

(4)  (a) ST (b) THAHTE Feifer .

Consider the following statements :

(a) The ratio of 1*C to '2C changes continuously for dead bodies or plants.

(b} Radioactive isotope Carbon-14 is used in a Carbon dating technique.

Answer Options :

(1} Statement (a) is true and is a reason of (b)
(2) Both (a) and (b) are not true

(3) (a) is true but (b) is false

(4) (a) and (b) are not related to each other

HEAT HTHTHTS ST/ SPACE FOR ROUGH WORK
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54. AT 3] fagdiae WAeih! SV TOTEH TRl HSdar ?

(1) TEROT ST Fewera

(2) IS ST g

(3) TomR, Wi o =2 ¥ sopadie T

(4)  oTuE freman

Which of the following properties of atom could be explained correctly by Thompson
Model of atom ?

(1) Overall neutrality of atom
{2) Spectra of hydrogen atom
(3) Position of electrons, protons and neutrons in atom

(4) Stability of atom

55. fefeam stufqa 12.5 98 A e e fofauni & e, 25 JuiAd ges fefegmen fadt sia
e foees e ?

(1) 0 (3 (2) 05 (3} 0.25 (4) 0.125

Tritium has a half-life of 12.5 years, undergoing beta decay. What fraction of
original Tritium will remain undecayed after 25 years ?

(1) O (zero) (2) 0.5 (3) 0.25 (4) 0.125

56. 300 ¥29 U% Yo Aeiq gfafed 1 a8 ¥eas S, S TR gied X % 3.00 38, @ 0
Tfg=mme o TS araekedn faen T fohdt ?

(1) T279.00 (2) T 31.00 (3) 27.00 4 T 2790

A washing machine rated 300 Watt is operated for one hour/day. If the cost of
one unit is T 3.00, what will be the cost of the energy to operate a washing
machine for the month of March ?

(1) T 279.00 (2) % 31.00 (3) 27.00 (4) % 27.90

FoAT THIHTATS AFT/ SPACE FOR ROUGH WORK
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57. 9rg Tai g Sien o

Y13

(a) GYWT T IR FEEA (i) WrafE Fe
(b) HIERH (i) hemem R V@ FiEw, WPe
(¢} AT /TR 3T (iii) HR S
HaA fahan s Sren
(d) FORFGUHETY (iv) ST 9T
Wfﬂ"\‘ﬂ:
(a) (b) (c) ({(d) (a) (b) (e} (d)
(1) (v} (iid) (i) (i) (2) Gv) @) (i) (i)
(3) (i) (iv) (i) (i) (4) () (i) @v) (i)

Match the following with correct options.

(a)
(b} Stratosphere
{c} Non-renewable resources

Inexhaustible resources (1)
(i)

(iii)

Anthropogenic activities
Fossil fuels like coal and petrol
Solar Energy

(d} Chlorofluocrocarbons (iv) Rich layer of Ozone
Answer Options :

(a) (b} (c) (d) (a} (b) (c) (d)
(1) (v} (i) (i) () (2} (v) (i) (i) (i)
(3) (i) (v) (i) (i) (4) (1) (i) (iv) (i)

58.

" [ S adesieR e ST Hied Woen el Wiel SRR STeca YHIv HAol SR,
e faum f=1 fdeie dursr sogamer enuif o/m e o afte faamre! gentd

(1)

PO iR f=isHIE 9 s (Same framiis sieder sres suar

&A1) FTHLTI T4
(2) oM ' IR T WHEIOI ST,
(3) S AhYH A WY Yferdd T FHiam.
(4) T HeaEl Soae 7 =t (few) S\ o,

“Currently there is increased demand for fresh and good quality flowers for human
consumption worldwide”.

The above statement is based on the following potential values of flowers.
Which one is not appropriate with the context of above statement.

(1) Flowers are endowed with natural antioxidants and scavenging activity of
reactive oxygen radicals.

(2) Flowers are rich source of Anthocyanins.

(3) Flowers are attractive and help in pollination mechanism.

(4} Flowers are important source of vitamins and minerals.

HoAT HTATEIE I/ SPACE FOR ROUGH WORK
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59.

30 A

wytarone Hatew fefeiga A S o

(a) STEERIER (i) TR, THE, TE, 9 L.
(5) TIEEEST (ii) ST, STof, GawstE €.
(c) TISTERIST (iii) gedren gYEdey, arg e
(d) STHTRRR (iv) gedT=n uA (GEHE) TEHh
T I

(a) (b) (c) (d) (@) (b} (c) (d)
(1) (i) (1) ([@) (i) (@ () @) @) @)
(3) @) (v) (1) (i) (4) (i) () (v} (@)
In relation to Environment match the following.
(a} Biosphere (i) Oceans, Seas, River, Lakes etc.
(b) Lithosphere (ii) Plants, Animals, Microbes etc.
(c) Hydrosphere (iii) Thick gaseous cover surrounding the Earth
(d) Atmosphere (iv) Solid Component of Earth

Answer Options :

(a) (b) (e} (d) (a) (b) {e} (d)
(L) @) @i @) () (2) (iv) {itl) (1) ()
(3} (i) (v) @ (i) (4) (i) (i) (iv) ()
60. EEEE S WiHATE oTd SigR Ard WIS ST ST eoigi ST e
Eic
(1) = (2) B (3) el (4) MR

— is an Artificial method of Asexual Reproduction, used to produce plants,
~ombining desired stem with favourable Root Characteristic.

‘1) Budding (2) Layering (3) Cutting (4) Grafting

1

AT A 9T/ SPACE FOR ROUGH WORK
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61. T S Je&a (I wata fae) ¢

(a) ofR=is (i) rerareT S e

(b) fasiwmR=E (ii) ST S .

(c) Tewimhem (iii) TSR TF

(d) IR iEH Hew (iv) e S

i 3T

(a) (b) () (d) (a) (b) (e) (d)

(1) (1) @} (v) (i) (2) (i) @) (@) ()

(3) (v) @) (1) (i) (4) (@) (@) (i) (i)

Match the following {use correct codes) :

(a) Aristotle (1) Father of Medicine

(b} Theophrastus (i) Father of Genetics

(c) Hippocrates (1ii) Father of Botany

(d) Gregor Johann Mendel (iv) Father of Biology

Answer Options :

(a) (b) (e} (d) (a) (b) (e} (d)

(1) @) @) () (i) (2} @i) (1) @v) (i)

(3} (v) (i1} (i} (1) (4) () @) (@v) (i)
62. TOGUH! H faum/faum ¢ aRemer"’ 98 \e 3T/ 3184 ?

(a) WREHIT T FIVEE G G 3R,
(b) © SAkE e N0 foRareaes St v SR

it 3N
(1) (a) ® (2) (b) T
(3) (a) 30T (b) D= (4) whete! FIoQE el

Which of the following statement/s is/are true for sarcomere ?
{a) A sarcomere is any segment of the fibre.

(b) It is a unit of histological structure and physiological action.
Answer Options :

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4} None of the above

FHoAT HHTEG! AR/ SPACE FOR ROUGH WORK

P.T'o!
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63. TSOUHT FIE Ferger W/ TR ¢ fodft fouft”! Al =raeaes e ?

(1) I faen (2) feod ar

(3) FTA MR (4) =T IA

Which of the following Protozoan disease is transmitted by bite of tse tse fly ?

(1) Sleeping sickness (2) Delhi boli

(3) Kala azar (4) Chaga’s disecase
64. THIfSEH= Heqem 0 I o ?

(1) @9+ (2) I (3) TR TF (4) weiew fa=

The cell was first time described by ___ ]

(1) Lamarck (2) Schwann {3) Robert Hooke (4) Rudolf Virchow
65. WHEYH! HeE THEE AfufFm sifeafesor-gum a1 yHRE Aiead ?

fa) 2Mg + O, — 2MgO

(b)  MnO, + 4HCI - MnCl, +2H,0+Cl,

(c} 2Na + Cl, — 2NaCl

(d} 2NaBr + H,0, — 2NaOH -+ Br,

TatEr 39

(1) ®F (a), (d) (2) W (b), () (3) W (a), (b) (4) =@ wd

Which of the following are Oxidation-reduction reactions ?

(a) 2Mg + O, — 2MgO

(b) MnO, -+ 4HCI -» MnCl, +2H,0+Cl,

(c) 2Na + ClI, - 2NaCl

(d) 2NaBr + H,0, — 2NaOH + Br,

Answer Options :

(1) Only (a}, (d) (2) Only (b}, (c} (3) Only (a), (b) (4) All of the above
66. THYST UFTHE, Uefiq T Sedld K+ AT Wedt . 37ifO Nat STRMHr HEe

I 1 &

(1) o, &g (2) I, (3) ifer, (4) i, e

In vertibrates, inside the cells and tissues, thereisa __ concentration of

K" ions anc __ concentration of Na' ions.

(1) Low, High (2) Low, Low {3) High, Low (4) High, High

AT SHTATATSH ST/ SPACE FOR ROUGH WORK
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67. TS He fadhe 9 ¥9 o5, St sufrden qaa S seo & 3TEql
(1) >0
(2) <O
3) =0

(4) HH F 950 0 Fagammes Jomn ey

The EMF of a chemical cell is positive, when the free energy change of the reaction

(1) =0

(2) <0

3) =

(4) No relationship between the free energy change and EMF

68. 3Tk AEGERVIS AT e o smadt o faare S eeets s faas atet
HEq?
(a) TEA @IS AEMAT AE. (b) oI%T SIS ST HE B
(c) SHElhgd IEHS AMHI ded.  (d) STHIHGH STEIRS T HH A
it 3 :

(1) (a), (d) (2) (a), (c) (3} (b), (d) (4) (b), (c)
In modern periodic table, which of the following statements about atomic radius
are true ?

{a) Increases from top to bottom (b) Decreases from top to bottom
{c) Increases from left to right (d) Decreases from left to right
Answer Options :

(1) (&), (d) (2)  f(a), (c) (3) (b), (d) 4) (b), (0

69. WHBUH HE AfTHES T ST ?
(1) T Helfa
(2) hEd A SETEE
(3) 3, Hefe enfor o1 Steaa
(4) <2 e

Which of the following is/are terpenoid/s ?
(1)  Only menthol

(2) Only Vitamin A

(3) Both menthol as well as Vitamin A
(4) Neither menthol nor Vitamin A

AT HIES T/ SPACE FOR ROUGH WORK T
P.T.O.
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70. RIS [Ni(CO),] MHE/SfS (complex) TH foslie goaei=t d&m B
(L 0 2) 1 (3) 2 (4) 3
The number of inpaired electrons in tetrahedral [Ni(CO),] complexis
i1y 0 (2) 1 (3 2 4) 3

w1, niges AR (Cabinet Secretariat) HEHA GIG@Ush! vl faum W& 31m=d ?
ja) d3"E 1950 HLA TUH FUEM S,
(b) T dawHHE grRYARE S F,
{c) @ T H92A Line agency) 3.
id)  ° FE THEITH §& 999 WA HE w.

ot 3=y
(1) (a) =000 (b) (2) (a), (b) ¥ (q)
(3) (b) 3T (d) (4} (a), (c) T (4)

Which of the following statements are true about the Cabinet Secretariat ?
(a) It came into existence in 1950.

b) It operates under the direction of Prime Minister.

(c] It is a Line agency.

(d) It functions as the Chief coordinating agency in the Central Government.
Answer Options :

1) (a) and (b) (2) (a), (b) and (¢)

3) (b} and ({d) (4)  (a), (¢) and (d)

72. e faum faama = sufn g e e

(a) AT, el g5l faduen e TOdreN YH-TRETH HHCHE WSS S Wb,

b) TR WeRs M qi fehwr S getaie s oo fafuHg @R Hier e sTevas

() fromds T8 Tz HE] ol aee TENAIE] a0 Feanvar e 99 Aehd TE.

() eTieTeur, THEEAHE 980 e G THTTEHT 0T agHdld Shoedl EEIgR I A

e i

(1) (a), (b), (c] (2)  (b), (c), (d)

(3) TR (a) AT (b) (4) TF (c) I (d)

Consider the fo'lowing statements and choose the correct code.

(a) In India, a constitutional amendment bill can be introduced in the Parliament
only with the prior permission of the President.

(o) In U.S.A., every constitutional amendment must be ratified by at least
two-thirds of the state legislature.

{¢c) In Switzerland, no alteration of the constitution can be effected without
resorting to a referendum.

(d) In Australa, the constitution can be altered only by an Act passed by an
absolute majority in both houses.

Answer Options :

(1) (a), (b), (¢} (2}  (b), (c), (d)

(3} Only {a) ard (b) (4) Only (c) and (d}

T FHTTEE W/ SPACE FOR ROUGH WORK
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73. VRN AT WS e faur faeme =m.
(a) </ Gaa anfor w2 wrar=n Wi Fefiar aifia w5 Se.
(b} e/ fae wam wg fayurml fem wa 3 39 R
(c) T/ foe Qe ESR U WM FROT Heei=A1 SgHaH Iid oo SAER ST ol

HEET A,
(d) =/ M ST-YaUHERET R SR
Fitw faurits! Fiok atET od ?

(1) (a), {b), (¢) (2) (b), (9, (d) (3) (a) MW (b) (4) o

Consider the following statements regarding the position of the Speaker of

Lok Sabha.
(a) His/her salary and allowances are charged on the Consolidated Fund of
India.

(b) He/she has no vote except in case of a tie.

{c) He/she can be removed by a resolution passed by a majority of the members
present and voting in the house.

(d) He/she has a higher rank than Deputy Prime Minister.

Which of the above statements are correct ?

(1) (a), (b}, (c) (2) (), {c}, (d) (3) (a) and (b) (4) All above
74. TSR FOE e A TR e éa ?

(a) oA oAl - OS], HEe g HeETel deihe WY o
Y

(b) M YEE - WY 4E4d (%) H9uErgdt wfing s,

(c) THRI Y& - TR FRIEE! S wHEw Y FRmIER T
TS Je81 ThE WHIIA T ey,

(d) ETRd=1 g7 - HAT feoeEn R/ STyul SOt S WA R e,

it I

(1) (a), (b) (2) fa), (¢) (3) (b}, (c}, (d) (4) (a), (d)

Which of the following pairs are not correctly matched ?

(a) Calling attention Motion - To draw attention of the Minister on matters

of urgent public importance.

To adjourn the House before the expiry of the

time,

(c) Privilege Motion - To draw attention of the Speaker towards when
the proceedings of the House do not follow rules
of procedure.

(d) Point of Order - To draw attention of the Speaker towards
incorrect/incomplete answer by a Minister.

(b) Adjournment Motion

Answer Options :
(1} (a), (b) (2} (a), (o) (3} (b), (c), (d) (4) {a), (d)

oAl HIUTATS ST /SPACE FOR ROUGH WORK P.T.0
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75, GE@H! Hd faur seR w2
(1) T eREifiE A6t AR fouas duasn S vl Aise WY e
L.
(2) Ty 3@ fadew gudd wiewE fafte Semds deate e fafibeen e
(3) TOZ e TN TgHA AR W HET T Tl TG FE ehal.
(4) T4 fafudgen e Ho0 foar (va) fesrvaE s dusat 9494
Which one of the following statements is not correct ?
(1) No bills for the formation of new state shall be introduced in either house of
Parliameat except on the recommendation of the President.
(2} The President before introducing the bill in the Parliament shall refer it to
the conczrned State Legislature for its views within a specified time limit.
(3) Parliament can form a new state only by a law passed by a special majority.
(4) The Parliament is not bound to accept the views (opinion} of the State
Legislature.
76.

¥ Hifed) SRITER Qoeis! o faur aieg e ?

(1) @ HeeEs deen oA e U ged il ogea nfor o en SR A ek wiedt
AR FET,

(2) T T ST SO A AR A TR TeHT ST e Ao e

(3) T S9S T U= o fhar FaTe 70 T YOl SEHEa MU HIAH.

(4) ¥ TR I oA w7 A S ¥ e T ST WU YHUFh WA STHAT T,
3 Tifedt &R T FIEHTEE T UrE qTIE S 1 U YR0 R wehd AR
Which of the following statements regarding Central Information Commission is

correct ?

(1) It is a ccnstitutional body includes one Chief Information Commissioner and
not more than Five Information Commissioners (ICs).

(2) The CIC and ICs are appointed by the President on the recommendation of
committce headed by the Home Minister.
(3) They hold office for a term of S years or until they attain the age of 70 years.

(4) They are not eligible for reappointment, but Information Commissioner is
eligible for appointment as Chief Information Commissioner but cannot hold
office for more than a total of five years including his term as Information

Commissioner.

FHoTT HIHTEIS WM/ SPACE FOR ROUGH WORK
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77. 71 ity ‘=fas afikader’ 9o e,
(a) e faftdees SOS SEmEcHt TR Y= WS B,
(b) A (Hung) fafuries smai @R ¥ ®RY FHgad 9 AR 3194
(¢) eg1 TR AN Hoyd ATHERT S Fudid 99 o1
(d) ice T TE Ul o SISt <ARediEr IR S,
it S9N
(1) (@, 0, © (2 b, @ @ Fow (4) W (b) ST (c)
The situations that leads to ‘Judicial Activism’ are :
(a) When the legislatures fails to discharge its responsibilities.
(b} In case of hung legislature where the government is very weak and instable.
(c) When the government fail to protect the basic rights of the citizens.
(d} When the party in power misuses the courts of law for ulterior motives.

Answer Options :
(1) (a), (b), (o) (2)  (b), (), (d) (3) All above (4) Only (b) and (c}

78. QOIS el SR =,
(a) VMIUFR T e AEAHS TR
(b) SrfumriEr favmmlt & wes T it =g T ot a1
(c) Tregqdt wesh T fasasiat forfees (wqol) Femifier smowam.
(d) % A & TSETS SHAEA T T, i st S 920 5% .
Feieh] BT TG/ TR T T RS T € A e GER=aene w9 st 19 ?
(1) R (a) (2) (a), (o) ¥ (d)
(3) (b}, (¢} 3T (d) (4) =l wd
Consider the following provisions.
(a} The residuary powers have been left with the centre.
(b) The powers divided between states and the central government.

(c) President enjoys absolute veto over state bills.

(d) The Union can change the name, area and boundary of a state without its
consent.

Which of the above, if absent, would make the Indian Constitution more Federal
in nature ?

(1) (a) only (2) (a), (c) and (d)
(3} (b), (¢) and (d) (4) All above

FoAl HIWESH AT /SPACE FOR ROUGH WORK
P.T.O.



Y13

38 A

79. WEGHEH! I a9 & TRANG TR~ IRES=A FESHARE TEea 3R ?

(1)
(2)

(3)

(4)

T (AT N 1S g Yo o S1ed Syl vl 110 e Jeal 2,

EZGIG TG AE TN

T Teten foan wi 1gen W9-T9 3 O e atfuss Tl At s wede feadey
I a7en Tasenaraa ST=_ww 0 ST == w0,

3190 Forr g fasarar frwrsht st favrea: o fowamEmeay e snfir s g sAfus
Eiure lcatde e ol Bupicarci Atareiic Ty

Which one of the following matters stands excluded from the jurisdiction of
Inter-state council in India ?

(1)

Enquiring into and advice upon disputes which may have arisen between
the states.

Adjudicaton of any dispute with respect to the use, distribution or control of
water of any inter-state river.

Investigat on and discussion of subjects in which some or all of the states or
the Unior. and cone or more states, have common interest.

Making recommendation on any such subject and in particular,
recommendations for the better coordination of policy and action with respect
to that subject.

80. ‘fadriuesr Gitdl’ Hewl Weieis! SR fau steT ATE ?

(1) SmEeEr fmm-222 snftn T=@sen f2m- 187 # favmfusrres s

(2) SHEIT 15 T e e afirdt € wvidt Amfeing .

(3) TeEEdd Suieel 3 Tasmmfusn afad= TE srHae S gt 15 TS STEan.

(4) TIGURT TAgl TR

Which one of the following statements about ‘Privilege Committee’ is not

correct ?

{1) Rule No. 222 of the Lok Sabha and 187 of the Rajya Sabha governs privilege.

(2} In the Lok Sabha, the Speaker nominates a Committee of Privileges consisting
of 15 members. '

(3) In the Rajya Sabha, the Deputy Chairperson heads the Committee of Privileges,
that consists of 15 members.

(4) None of tie above.

Foodl SHTATHTS! ST/ SPACE FOR ROUGH WORK
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81. 'UN gaw €N’ Tk @oe YR e =
(a) UH o GRUTET FEYUH TR 1986 WYY FI09TT 3T,
(b} 2003 AHie TROUTER JIHE A 15-35 ARG SR 379 e o)
(c) 2014 RHi® URUITER JAFE1 FATEH =AW 15-20 T 19 el oT8,
Testsh] S faum/T st om/a?
(1) % (a) (2) () A (b) (3)  (b) snfur (q) (4) T (c)
Consider the following statements about ‘National Youth Policy’.
(a) The First National Youth Policy was adopted in 1986.
(b) In the 2003 policy, ‘Youth’ was defined as a person of age between 15-35.
(c] In the 2014 policy, the youth age-group is defined as 15-29 years.
Which of the statements given above is/are correct ?
(1) Only (a) (2) (a) and (b) (3) (b) and (c) (4)  Only (¢)
82. TOUH! HvR faum/Y W amR/a 2

(a) TAHTS YeRT-111 ¥ 314 fa84wbi=n (money bills) SREr=T Tauf T,

(b) STRT-117(3) WAt Ivftag FS fort Fa9 (financial bill) ¥ ¥9@ SrEadveis nies
BlER{EDS

(c) 3g=T-117(1) @Ht Avftag = fag fadgs (financial bill) TEIEHT STHTA 7oA go&a

HE TFHT G
wateft s :
(1) W (a) (2)  (b) 0T ()
(3) =SS! uwdt Er (4) W (o)

Which of the following statements is /are correct ?
(a) Article-111 of the constitution deals with the definition of money bills.

(b) A bill categorised as financial bill under Article-117(3) can be introduced
only in the Lok Sabha.

(¢c) A bill categorised as financial bill under Article-117(1) cannot be rejected or
amended by the Rajya Sabha.

Answer Options :
(1)  Only (a) (2} (b) and (c)
(3) None of the above (4) Only (c)

ol HIATHTS ST/ SPACE FOR ROUGH WORK
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83. @S Tl How faum seT A6 ?
(1) 9% 200 = Toaws fades Tgdren fasme TgH 39 .
(2) e fadeer iR TerfafireeaRe T wefavar IeE e < v,

(3) R i Tt e Tl qERiTe AAdel geed foer e FE 1R TR W
Foard T H 0TI SHTERE 3T,

(4) thﬁmﬂﬁwmﬁmmﬁﬁwzﬁn@ﬁvhm

Which one of the following statements is not correct ?

(1)  Under Article 200, the Governor may reserve the bill for the consideration of
the President.

(21 President may direct the Governor to return the bill for the reconsideration
of the State Legislature.

(31 If the bill :s passed again by the State Legislature with or without amendments
and presented again to the President for his assent, the President is bound
to give his assent to the bill.

(4} The constitution has not prescribed any time limit within which the President
has to take decision with regard to a bill reserved by Governor for his
consideretion.

84. ﬁammmmﬁmwﬁw%wmwmﬁmww?
(1) ot ST T TR S g8 A A e AHel e,
(2) 1 R T AT g8l Y afhe T AHel wifed.
(3) RS R SR ST s SE! e
(4) “RUH THE EL

Which of the ‘ollowing has been wrongly listed as criteria for appointment as a
judge of the High Court ?

(1) He must have been held a judicial office in the territory of India for ten
years.

(2) He must have been an advocate of a High Court for ten years.
(3) He must, in the opinion of the President, be a distinguished jurist.

(4) None of the above.

oAl SHTATETS 90T ' SPACE FOR ROUGH WORK
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85. ‘mammﬁwwﬁ%wﬁmmmﬁmwm
TR Fae o, J, W, TS 3 fohaT AThRY IO HRUTE YA TR SR A @)
TR RATT TN WA IV ST o8 2
(1) 30 (2} 16 (3) 28 (4} 29
No citizen shall be denied admission into any educational institution maintained
by the state or receiving aid out of state funds on grounds only of religion, race,

caste, language or any of them.’ This provision is contained in which of the
following articles of the Indian Constitution ?

(1) 30 2) 16 (3) 28 (4) 29

86. AT AN Wifen fawedt sri faum v
(a) memmw%ﬁmmmwmmmm
(b) mﬁwﬁlwrﬁmﬁégﬂwmﬁzﬁﬁﬁﬁwaﬁ

(c) = Wit Hron dawumit 2014 79 9t adt

(d) u@ﬁaﬁmzozzq@wmw%aqwméwmwmmm
IR,

TatEr WY

(1) {a), (b), (c), (d) (2) (b}, (o), (d)

(3)  (c), (4} (4) (b, (¢

Find the incorrect statements about Gaganyaan Mission of India.

(a) Four pilots from Indian Air Force were short listed to be astronauts of
Gaganyaan.

(b) They will be trained at Yuri Gagarin Cosmonaut Centre in Russia.
(c) This mission was announced by Prime Minister in 2014.
(d) It is scheduled for 2022 with team of 5 crew members and a month long stay

in space.
Answer Options :
(1) (& ®), (c), (@) (2) (b), (c), (d)
(3) (o), (@) (4) (b}, (c)

87. Ste Wald Wel SS9 Fonf o .

(1) rRug (2) +zo frw (3) FowET =T (4) Wk =i
The largest invertebrate, a spineless creature, in the world is .
(1) Octopus (2) Cuttle Fish (3) Colossal squid (4) Giant squid

oAl SHTHHTS STT/SPACE FOR ROUGH WORK
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88. ZEH T MAEIT I Hifwn TEH THA S T T, 2019’ TR WSSl HivmEt 98

FA?
(1) e aed (2) O YIS
(3) S St (4) e faaee

Who amongst the following was chosen as the ‘Time Person of the Year, 2019" by
the Internationally acclaimed magazine-Time ?

(1) Greta Thunberg (2) Malala Yousafzai

(3) Rishi Joshi (4) Kate Winslet

89. WOIG FHY- walld =1 :

(a) %am:zowmﬁswﬁwwammmaﬁmwmmm
ER)

(b) ﬁm‘rmmwmﬁmm. poita BEEE ) e | O 0

FAfaTr < & A e qe .
et Fo /@ fauE/ N S S ?
(1) T (2) (2) T (b)
(3) (2 3T (b) S (4)  (a) STl (b) T TR

Consider the following statements :

(a) The first phase of the Chabahar Port was inaugurated in December 2017 by
Iranizn President Hassan Rouhani.

(b) India has taken over operations of the strategic Chabahar Port. This is the
first time India will be operating a port outside its territory.

Which is/are the above incorrect statement/s ?
(1} Only (a) (2) Only (b)

(3) Both {a) and (b) (4) Neither (a) nor (b)

TS FTHTETE WA/ SPACE FOR ROUGH WORK
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90. HRATSN UL FIved o et 3 amRq -
(a) RN WO A ST YA e w5,
(b) T &AL Hivew fawmr e T,
(c) Tovem ierea formey oo aRoTRERERT Yo o,
(d) I HET enfefes waes g Ao Teriso w0

tm’hﬂ‘ﬁ:
(1) K (a), (b), () (2) WK (b), (c), (d)
(3) W (a), (b), (d) (4) ™A (a), (¢}, (d)

Objectives of National Skill Development Agency of India are -

(a) Suppert to government of India’s five year plan for skills training,

(b) Organize skills development across all factors.

(c) Evaluate the effectiveness of existing skill development programs.

(d) Empowerment of women through economic independence for betterment of

society.
Answer Options :
(1) Only (a), (b), (c) (2)  Only (b), (c), (d)
(3) Only (a), (b), (d) (4)  Only (a), (c), (d}

91. Y FY/7 3ian - (15 @ for e o)
(a) WA, f97 ¥ A stemer s,
(b)  SRIAT Fel ¥ AT TaE o,
(c) =T =139 fdn % s wiae s,

it 39y ;
(1) %= (a) (2) I (a) T (b)
(3) H (b) T (c) (4) HH ()

Select the correct statement/s (Regarding 15" Finance Commission) :
(a} N.K. Singh is the Chairman of Commission.

(b)  Arvind Mehta is the Member of Commission.

(c) Dr. Anoop Singh is the Secretary of Commission.

Answer Options :

(1) Only (a) (2)  Only (a) and (b)

(3} Only (b} and (c) (4) Only (c)
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92, AR Y SETEdl A dwa faEm e
(a) B TEREd 1946 WA TR .
(b) T TR ST U, TEeeie Tl Fo e,
(c) a#ﬁa’vwlgmﬁmwmﬁwwmm.
(d) wﬁﬁﬁ?gflmmﬁ%wmma@.

warat el
(1) (a), (b, {c). (d) (2} (b), (c). (d)
(3) (), (¢} (4) (b}, (d)

Find the correct statements about Aarey Milk Colony.

(a) It came up in 1946.

(b) Pt. Jawaharlal Nehru inaugurated the Aarey Colony.

(c) After 1970 film city was carved out of Aarey Forest.

(d} It came up on the land given to the department of dairy development.
Answer Options :

(1) (a), (b}, {c), (d) (2) D), (e} (d)

(3} (b}, (c) (4) (b}, {d)

93. wwﬁauﬁa@@mﬁmﬁﬁa@
(&) mmw@wqmmmmwmmmm.

(b ST B HFeT i HEEE g Hac .

{c| sifafEa TH T TePE U T WA ST

(d) Wfﬁ@@aﬁmmmww&ﬁmﬁaﬁmmﬁﬁﬁﬂw

oIHha TR
gyt 39y
(1) (a), (b}, (¢}, (d) (2) (&), (), (o)
(3) ta), (¢ (4) (a), (b), (d)

Select the correct statements about Whip in India :

(a) Whip is responsible for the party’s discipline and behaviour in the house of
legislature.

(b) India inkerited this concept from the British Parliamentary System.

(c) There caa be chief whip, assisted by additional whips.

(dy In presicential elections whips cannot direct a Member of Parliament (MP)
or Member of Legislative Assembly (MLA) to vote in a particular fashion.

Answer Options :

(1) (a), (b), (3), (d) (2) (a), (b), (¢}

(3) f(a), (c) (4) (a), (b), (d)
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94, FHIURH YR TSGR 2019 L T de-Teeh urg ek ?

(a) Fofew awa (b) HEwTg v

(c) TS TR (d) oz srgsn

Taidr 3

(1) (a), (b), (c) (2)  (b), {c), (d) (3) (a), (b}, (d) (4) (a), (e}, (d)
Which Indian bowlers to pick up an International hat-trick in 2019 ?

(a) Kuldeep Yadav (b} Mohammed Shami

(c) Jasprit Bumrah (d) Ravindra Jadeja

Answer Options :

(1) (a), (b), (¢) (2} (b), (c), (d) (3) (a), (b), (4) (4)  (a), (c}, (d)

95. U S forvelt =i foum s,
(a) ¥ U IwfeaH qrawE S e,
(b) A SN Yo sttt Ty oM,
(c) 1 ST SFIERAT 40% 9T =9ey a7
(d) & SIS TS, T S o S s,

Ui I
(1) f(a), (b), (), (d) (2} (a), (b), (o)
(3) (a), (q) (4} (a), (b), (d)

Find the correct statements about Amazon forests.

(@) It is tropical rain forest.

{b) It has Atlantic Ocean at its east side.

(c) It occupies 40% of Ecuador’s total area.

{(d} It is home of Macaws, Toucans and Black Skimmers.
Answer Options :

(1) (a), (b), (o), (d) (2)  (a), (b), (o)

(3) (&), (d) (4)  (a), (b), (d)

96. @E@TH! T Afswigedid 2019 T Hioiar Hewr fivia Sverg ser ?
(1) Wm@w@@%ﬂqmﬁwﬁw
. (2)  TEEHME fysRr
(3) PN WEHRET SAfrER
(4)  ETRIETET aferR

Which of the following decisions were taken with reference to Iranian Women in
20197

(1) Right to watch football in stadium

(2) Right to vote

(3) Right to own family property

(4) Right to Divorce

e ——
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97. rr@ﬂﬁmngmgmaﬁamaﬁwmﬁmﬁﬁammw‘m’mmww

ey

AT ST e 1 R faree R e S 2

(1) sty =l (2) S T

(3) gumERt 1@ Wbt (4) et Wﬁ

Shrinivas Fokale won the Best Child Artist Award for his film Naal’ at the 2019
National Fim Awards. Who amongst the following has directed this movie ?

(1) Ankuch Chaudhari (2) Nagraj Manjule

(3) Sudhakar Reddy Yakkanti (4) Gargi Kulkarni

o8, TEITH! ErA fauM Wl :
(a) 23 ssTed T STHIEH) TR 2019 4@ ST,
(b) %Wﬂaﬁa%@qmﬁéwwmﬁéww.
(c) mémwmmaﬂww%@wﬁwzmgmﬁm.
(d) FStEeE St TR TR A TR 2019 FH QLT e,
T S
(1) {a), (£}, (), (d) (2) (a), (b)
(3} (b), () (4) (2, (b), (0)
Find the bicorrect statements from below :
(a) Sahitya Academy Awards 2019 were given in 23 languages.
(b) These awards can be given to biography but not to autobiography.
(c) Marahi writer Anuradha Patil received award for her short stories in 2019.
(d) Mr. Shashi Tharoor’s book won prize in English category in 2019.
Answer Options :
(1) (a), (b), (e}, (d) (2) (a), (b)
(3) (b, () (4) (a), (b}, (c)

99. mﬁaa&wwﬁﬁmﬁﬁmfaﬂﬁsﬁm :
(a) w1 FRwiE geE o T e,
(b) <ﬁaﬁ@ﬁﬁﬁﬁwmmmﬁmﬁwmﬁ
(c) WHEwl 500 wqorian/ feig = WO ST
(d) m%mmmwwﬁwﬁ%%
it 39
(1) (), (b), (c), {d] (2) (&), (b), (0)
(3) (b, 1c) (4) (b), (o), (d) . _
Find out correct statements regarding Air Quality Index (AQI) in India.
(a) It reports quality of air on & daily basis.
{b) Higter the AQI value, greater the level of air pollution.

(c) India follows 500 points scale.

(d) Monitors record concentration of the major pollutants to calculate AQL
Answer (ptions :

(1) (), (b}, (@) {d (2) (a), (b), (c)

(3) (b), (c) (4) (b, (c), (@)
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100. &R & Friiew Aldte diafare fawd smivmy faum v
(a) mmmﬁwanwwwﬁmwmaﬁ
(b) e & WA RETaTE ST W E,
(c}) e Yo & FAlew Refte firer o,

(d) wmmmmmmwmmmm
it 34T

(1) (@), (b), {9), (d) (2)  (b), ()

(3} (b), (d) (4)  (a), (b}, (d)

Find the incorreect statements about boundary dispute between Maharashtra
and Karnataka.

{(a) Belgaum is claimed by Maharashtra on linguistic basis.
(b) Belgaum was part of Hyderabad princely state before independence.
(c) Currently Belgaum is district of Karnataka.

(d) Boundary dispute case over Belgaum is pending before Bombay High Court
from many years.

Answer Options :

(1) (a), (b), (c), (d) (2) (b), {c)
(3) (b), (d) (4)  (a), (b), (d)
-000-
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a1 — (78 11T T2.... )

(?) mﬂfmh@ﬁ%aﬁwﬁﬁmwﬂaﬁm(wa%) F, TEfaefai st 9 TR
FIEER F FE oA o Hidl A ﬁﬂ,mmmawmm
S S TR S S ST Hiae e sffrm-82 "' TTT® LTI FHAR FHUAM
%&aaﬁﬁm&ﬁ?m%mwwﬁ/ﬁmmﬁwﬁﬂmmﬁmmaﬁa

() HeEX FITIrASE mmwwmmammmqﬁmm

AT U
!x.mzm.w?a“ramwwmaﬁaﬁmﬁqaa:mﬁ?
(1) <A THe S @) SvEEg faErar
(3) T THE T3 (4) TS TEA

@W'aﬁm‘aﬂ(“(s)wmﬁaﬁﬂ"aﬁaﬂ% e A e s (3)” BEw. A
WM T %, 201 uﬁﬁﬁmfwaﬁ”@)”%aﬁawmmmﬁrﬁw
e

w2l (D Q) @ @
mmﬁwmﬁaﬁau@mwww&qﬁmwmg@mwﬁw
wmzmmmﬁ%wwmmm. ZITERTAT e STl YES
ﬁmﬁ?imﬁ,ﬁmmmﬁﬂwﬁ.
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